Top Landing Pages

Oct 1, 2016 - Oct 31, 2016



Explorer

Summary



1,000						\	/		\	
	Oct 8	Oct 1	5			Oct 22			Oct 29	_
<u>. </u>		Acquisition			Behavior			Conversions Goal 1: Mobile IDB Access		
Landing Page		Sessions	% New Sessions	New Users	Bounce Rate	Pages / Session	Avg. Session Duration	Mobile IDB Access (Goal 1 Conversion Rate)	Mobile IDB Access (Goal 1 Completions)	Mobile IDB Access (Goal 1 Value)
		35,087 % of Total: 100.00% (35,087)	24.27% Avg for View: 24.27%	8,514 % of Total: 100.00%	43.55% Avg for View: 43.55%	2.95 Avg for View: 2.95	00:04:50 Avg for View: 00:04:50	17.19% Avg for View: 17.19%	6,032 % of Total: 100.00% (6,032)	\$0.0 % o Tota 0.00

							Rate)	Completions)	Value)
	35,087 % of Total: 100.00% (35,087)	24.27% Avg for View: 24.27% (0.00%)	8,514 % of Total: 100.00% (8,514)	43.55% Avg for View: 43.55% (0.00%)	2.95 Avg for View: 2.95 (0.00%)	00:04:50 Avg for View: 00:04:50 (0.00%)	17.19% Avg for View: 17.19% (0.00%)	6,032 % of Total: 100.00% (6,032)	\$0.00 % of Total: 0.00% (\$0.00)
1. /default.asp	22,714 (64.74%)	21.98%	4,993 (58.64%)	39.33%	3.26	00:05:56	16.02%	3,639 (60.33%)	\$0.00 (0.00%)
2. /default_idb.asp	1,892 (5.39%)	13.00%	246 (2.89%)	19.77%	2.84	00:03:29	60.04%	1,136 (18.83%)	\$0.00 (0.00%)
3. /default_ursus.asp	1,099 (3.13%)	16.92%	186 (2.18%)	53.78%	2.43	00:04:08	14.47%	159 (2.64%)	\$0.00 (0.00%)
4. /about/hours.htm	753 (2.15%)	42.36%	319 (3.75%)	0.40%	2.35	00:00:54	0.66%	5 (0.08%)	\$0.00 (0.00%)

	(3.13%)		(2.10%)					(2.04%)	(0.00%)
4. /about/hours.htm	753 (2.15%)	42.36%	319 (3.75%)	0.40%	2.35	00:00:54	0.66%	5 (0.08%)	\$0.00 (0.00%)
5. /default_res.htm	531 (1.51%)	15.25%	81 (0.95%)	71.37%	2.24	00:04:21	1.69%	9 (0.15%)	\$0.00 (0.00%)
6. /indexesdb/indexes.asp	377 (1.07%)	20.42%	77 (0.90%)	42.71%	2.55	00:03:42	100.00%	377 (6.25%)	\$0.00 (0.00%)
7 /services	352	36 03%	130	30 97%	3 08	00.03.30	1 /12%	5	\$0.00

6. /indexesdb/indexes.asp	377 (1.07%)	20.42%	(0.90%)	42.71%	2.55	00:03:42	100.00%	377 (6.25%)	\$0.00 (0.00%)
7. /services	352 (1.00%)	36.93%	130 (1.53%)	30.97%	3.98	00:03:30	1.42%	5 (0.08%)	\$0.00 (0.00%)
8. /default_ejournals.asp	330 (0.94%)	13.64%	45 (0.53%)	58.48%	2.09	00:02:18	6.36%	21 (0.35%)	\$0.00 (0.00%)
O /pur	284	10 21%	29	00 72%	1 40	00:01:14	2 11%	6	\$0.00

	(1.00%)		(1.53%)					(0.08%)	(0.00%)
8. /default_ejournals.asp	330 (0.94%)	13.64%	45 (0.53%)	58.48%	2.09	00:02:18	6.36%	21 (0.35%)	\$0.00 (0.00%)
9. /nur	284 (0.81%)	10.21%	29 (0.34%)	88.73%	1.40	00:01:14	2.11%	6 (0.10%)	\$0.00 (0.00%)
10. /chf200fall2016	276 (0.79%)	23.55%	65 (0.76%)	67.39%	1.65	00:02:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
11. /ejournals/default.asp	220 (0.63%)	11.82%	26	69.55%	1.76	00:03:01	6.82%	15	\$0.00

10. /chf200fall2016	276 (0.79%)	23.55%	65 (0.76%)	67.39%	1.65	00:02:33	0.00%	(0.00%)	\$0.00 (0.00%)
11. /ejournals/default.asp	220 (0.63%)	11.82%	26 (0.31%)	69.55%	1.76	00:03:01	6.82%	15 (0.25%)	\$0.00 (0.00%)
12. /onesearch.htm	183 (0.52%)	19.13%	35 (0.41%)	80.87%	1.46	00:01:12	5.46%	10 (0.17%)	\$0.00 (0.00%)
13. /indexesdb/Indexes.asp	165 (0.47%)	18.79%	31 (0.36%)	36.36%	2.38	00:03:09	100.00%	165 (2.74%)	\$0.00 (0.00%)
14. /business-databases	148 (0.42%)	41.22%	61 (0.72%)	61.49%	2.61	00:03:59	1.35%	2 (0.03%)	\$0.00 (0.00%)
15. /indexesdb/Indexes.asp?search=A⦥=SZ	144 (0.41%)	8.33%	12 (0.14%)	48.61%	1.97	00:02:02	100.00%	144 (2.39%)	\$0.00 (0.00%)

16.	/about	137 (0.39%)	60.58%	83 (0.97%)	53.28%	3.78	00:03:28	0.00%	(0.00%)	\$0.00 (0.00%)
17.	/indexesdb/Indexes.asp?search=A⦥=DH	135 (0.38%)	2.22%	(0.04%)	75.56%	1.73	00:02:24	100.00%	135 (2.24%)	\$0.00 (0.00%)
18.	/circ/OakesRoom.htm	131 (0.37%)	47.33%	62 (0.73%)	87.02%	1.17	00:00:32	0.76%	1 (0.02%)	\$0.00 (0.00%)
19.	/cmj103	113 (0.32%)	4.42%	5 (0.06%)	84.07%	1.22	00:00:38	0.00%	(0.00%)	\$0.00 (0.00%)
20.	/psychology/databases	113 (0.32%)	14.16%	16 (0.19%)	85.84%	1.56	00:02:14	2.65%	3 (0.05%)	\$0.00 (0.00%)
21.	/foodscinutr/home	104 (0.30%)	12.50%	13 (0.15%)	84.62%	1.30	00:00:55	0.00%	(0.00%)	\$0.00 (0.00%)
22.	/c.php?g=137204&p=897007&preview=9754ae0c2bb10958 37d5f861e42f4a4a	100 (0.29%)	54.00%	54 (0.63%)	56.00%	2.63	00:02:49	1.00%	1 (0.02%)	\$0.00 (0.00%)
23.	/friendly.php?s=scifinder_database_guide	96 (0.27%)	11.46%	11 (0.13%)	93.75%	1.06	00:00:51	0.00%	(0.00%)	\$0.00 (0.00%)
24.	/educationguide/databases	95 (0.27%)	25.26%	24 (0.28%)	48.42%	3.19	00:03:24	4.21%	4 (0.07%)	\$0.00 (0.00%)
25.	/humandevelopmentguide	83 (0.24%)	16.87%	14 (0.16%)	31.33%	3.93	00:01:49	2.41%	(0.03%)	\$0.00 (0.00%)
26.	/biologyecology/databases	81 (0.23%)	20.99%	17 (0.20%)	69.14%	1.95	00:03:13	0.00%	(0.00%)	\$0.00 (0.00%)
27.	/yearbooks/default.asp	79 (0.23%)	86.08%	68 (0.80%)	87.34%	1.24	00:00:42	0.00%	(0.00%)	\$0.00 (0.00%)
28.	/speccoll/default.asp	76 (0.22%)	59.21%	45 (0.53%)	32.89%	3.08	00:03:15	0.00%	(0.00%)	\$0.00 (0.00%)
29.	/theses/default.asp	68 (0.19%)	67.65%	46 (0.54%)	58.82%	2.71	00:01:50	0.00%	(0.00%)	\$0.00 (0.00%)
30.	/socialwork	65 (0.19%)	24.62%	16 (0.19%)	52.31%	2.03	00:02:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
31.	/bua343	59 (0.17%)	15.25%	9 (0.11%)	55.93%	2.22	00:03:16	1.69%	1 (0.02%)	\$0.00 (0.00%)
32.	/CMJ404	59 (0.17%)	22.03%	13 (0.15%)	86.44%	1.32	00:02:00	1.69%	1 (0.02%)	\$0.00 (0.00%)
33.	/healthpromotion	59 (0.17%)	35.59%	21 (0.25%)	69.49%	1.81	00:02:50	0.00%	(0.00%)	\$0.00 (0.00%)
34.	/comscidis	57 (0.16%)	22.81%	13 (0.15%)	68.42%	2.54	00:04:41	5.26%	3 (0.05%)	\$0.00 (0.00%)
35.	/indexesdb/Indexes.asp?search=A⦥=NS	56 (0.16%)	7.14%	4 (0.05%)	75.00%	1.62	00:02:08	100.00%	56 (0.93%)	\$0.00 (0.00%)
36.	/librarynews/default.asp	54 (0.15%)	27.78%	15 (0.18%)	79.63%	2.22	00:01:33	0.00%	(0.00%)	\$0.00 (0.00%)
37.	/techserv/default.asp	54 (0.15%)	14.81%	(0.09%)	3.70%	4.33	00:08:58	9.26%	5 (0.08%)	\$0.00 (0.00%)
38.	/corepages/whatsnew.aspx	51 (0.15%)	5.88%	(0.04%)	35.29%	2.53	00:03:44	0.00%	(0.00%)	\$0.00 (0.00%)
39.	/elections/presidentialcandidates	51 (0.15%)	47.06%	24 (0.28%)	60.78%	1.82	00:01:16	0.00%	(0.00%)	\$0.00 (0.00%)
40.	/indexesdb/Indexes.asp?search=A⦥=AD	51 (0.15%)	13.73%	(0.08%)	84.31%	1.47	00:01:05	100.00%	51 (0.85%)	\$0.00 (0.00%)
41.	/c.php?g=487203&p=3332568	49 (0.14%)	34.69%	17 (0.20%)	75.51%	1.57	00:02:13	0.00%	(0.00%)	\$0.00 (0.00%)
42.	/cmj/articles	47 (0.13%)	31.91%	15 (0.18%)	42.55%	3.02	00:03:17	2.13%	1 (0.02%)	\$0.00 (0.00%)
43.	/friendly.php?s=Interlibraryloan	42 (0.12%)	26.19%	11 (0.13%)	76.19%	1.81	00:01:51	0.00%	(0.00%)	\$0.00 (0.00%)
44.	/cmj107	40 (0.11%)	55.00%	(0.26%)	75.00%	1.40	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
45.	/c.php?g=149681&p=1043072	39 (0.11%)	69.23%	(0.32%)	51.28%	2.28	00:02:09	0.00%	(0.00%)	\$0.00 (0.00%)
46.	/stephenking	39 (0.11%)	46.15%	18 (0.21%)	84.62%	1.38	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
47.	/earthsciences/databases	38 (0.11%)	36.84%	14 (0.16%)	68.42%	1.79	00:03:20	0.00%	(0.00%)	\$0.00 (0.00%)
48.	/speccoll/newspapers_location.htm	38 (0.11%)	94.74%	36 (0.42%)	86.84%	1.63	00:01:39	0.00%	(0.00%)	\$0.00 (0.00%)
49	/townreport/default asp	38	97.37%	37	68 42%	1 34	00:00:40	0.00%	0	\$0.00

	, to maporty do additions	(0.11%)	,,,o,,,o	(0.43%)	001.1⊒.0		001001.10	0.00.0	(0.00%)	(0.00%)
50.	/circ/umbrella.htm	37 (0.11%)	40.54%	15 (0.18%)	54.05%	1.78	00:01:40	0.00%	(0.00%)	\$0.00 (0.00%)
51.	/colldev/contacts.htm	37 (0.11%)	32.43%	12 (0.14%)	75.68%	1.49	00:02:15	0.00%	(0.00%)	\$0.00 (0.00%)
52.	/swk540	37 (0.11%)	13.51%	5 (0.06%)	78.38%	1.49	00:04:07	0.00%	(0.00%)	\$0.00 (0.00%)
53.	/about/flooralphabet.htm	36 (0.10%)	52.78%	19 (0.22%)	36.11%	3.58	00:02:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
54.	/politicalscience	36 (0.10%)	25.00%	9 (0.11%)	44.44%	3.67	00:04:27	2.78%	1 (0.02%)	\$0.00 (0.00%)
55.	/agri/databases	35 (0.10%)	31.43%	11 (0.13%)	57.14%	2.71	00:02:18	0.00%	(0.00%)	\$0.00 (0.00%)
56.	/hist	35 (0.10%)	11.43%	4 (0.05%)	5.71%	5.46	00:02:37	11.43%	4 (0.07%)	\$0.00 (0.00%)
57.	/staff/libx_guide.htm	35 (0.10%)	28.57%	10 (0.12%)	48.57%	2.77	00:05:51	5.71%	(0.03%)	\$0.00 (0.00%)
58.	/about/employment.htm	33 (0.09%)	69.70%	23 (0.27%)	87.88%	1.12	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
59.	/biomed	33 (0.09%)	27.27%	9 (0.11%)	66.67%	2.00	00:02:29	3.03%	1 (0.02%)	\$0.00 (0.00%)
60.	/circ/default.asp	32 (0.09%)	50.00%	16 (0.19%)	84.38%	1.56	00:00:47	3.12%	1 (0.02%)	\$0.00 (0.00%)
61.	/sms/databases	31 (0.09%)	29.03%	9 (0.11%)	64.52%	2.03	00:02:01	0.00%	(0.00%)	\$0.00 (0.00%)
62.	/staff/mendez-brady.htm	31 (0.09%)	9.68%	3 (0.04%)	83.87%	1.35	00:01:42	0.00%	(0.00%)	\$0.00 (0.00%)
63.	/theses/index.htm	31 (0.09%)	77.42%	24 (0.28%)	45.16%	2.13	00:03:15	0.00%	(0.00%)	\$0.00 (0.00%)
64.	/sms322	29 (0.08%)	10.34%	3 (0.04%)	79.31%	1.59	00:02:35	3.45%	1 (0.02%)	\$0.00 (0.00%)
65.	/chf303fall2016	28 (0.08%)	25.00%	7 (0.08%)	39.29%	3.39	00:06:21	0.00%	(0.00%)	\$0.00 (0.00%)
66.	/indexesdb/Indexes.asp?search=A⦥=HN	27 (0.08%)	3.70%	1 (0.01%)	51.85%	2.00	00:00:21	100.00%	27 (0.45%)	\$0.00 (0.00%)
67.	/mecheng	27 (0.08%)	7.41%	2 (0.02%)	85.19%	1.37	00:00:18	0.00%	(0.00%)	\$0.00 (0.00%)
68.	/civileng	26 (0.07%)	19.23%	5 (0.06%)	73.08%	1.92	00:02:06	7.69%	(0.03%)	\$0.00 (0.00%)
69.	/ejournals/fulltext.htm	26 (0.07%)	26.92%	7 (0.08%)	69.23%	1.85	00:01:55	3.85%	(0.02%)	\$0.00 (0.00%)
70.	/Interlibraryloan	26 (0.07%)	26.92%	7 (0.08%)	53.85%	2.58	00:01:30	0.00%	(0.00%)	\$0.00 (0.00%)
71.	/www1.free-share-buttons.top	26 (0.07%)	100.00%	26 (0.31%)	0.00%	2.92	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
72.	/arts/articles	25 (0.07%)	28.00%	7 (0.08%)	24.00%	5.12	00:03:34	12.00%	(0.05%)	\$0.00 (0.00%)
73.	/citation	25 (0.07%)	28.00%	7 (0.08%)	88.00%	1.24	00:00:44	0.00%	(0.00%)	\$0.00 (0.00%)
74.	/nfa117ers	25 (0.07%)	20.00%	5 (0.06%)	84.00%	1.16	00:00:23	0.00%	(0.00%)	\$0.00 (0.00%)
75.	/reserves/default.htm	25 (0.07%)	16.00%	4 (0.05%)	16.00%	3.08	00:01:19	0.00%	(0.00%)	\$0.00 (0.00%)
76.	/techserv/Cataloging/processing.htm	25 (0.07%)	96.00%	24 (0.28%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
77.	/techserv/procedurestop.htm	25 (0.07%)	20.00%	5 (0.06%)	44.00%	4.24	00:08:06	4.00%	1 (0.02%)	\$0.00 (0.00%)
78.	/wgs103	25 (0.07%)	36.00%	9 (0.11%)	76.00%	1.96	00:02:20	0.00%	(0.00%)	\$0.00 (0.00%)
79.	/EES489	24 (0.07%)	12.50%	3 (0.04%)	83.33%	1.29	00:01:08	0.00%	(0.00%)	\$0.00 (0.00%)
80.	/contacts.htm	23 (0.07%)	78.26%	18 (0.21%)	39.13%	2.30	00:01:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
81.	/refchat.htm	22 (0.06%)	31.82%	7 (0.08%)	68.18%	1.86	00:01:37	4.55%	1 (0.02%)	\$0.00 (0.00%)
82.	/wildlifefisheries/databases	22 (0.06%)	27.27%	6 (0.07%)	81.82%	1.86	00:02:01	4.55%	1 (0.02%)	\$0.00 (0.00%)

83.	/cmj407	21 (0.06%)	23.81%	5 (0.06%)	66.67%	2.57	00:03:10	0.00%	(0.00%)	\$0.00 (0.00%)
84.	/staffinfo/default.asp	21 (0.06%)	4.76%	1 (0.01%)	42.86%	8.33	00:11:01	0.00%	(0.00%)	\$0.00 (0.00%)
85.	/c.php?g=154193&p=1029666	20 (0.06%)	0.00%	0 (0.00%)	95.00%	1.05	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
86.	/environmentalscience/databases	20 (0.06%)	20.00%	4 (0.05%)	30.00%	3.45	00:05:13	0.00%	(0.00%)	\$0.00 (0.00%)
87.	/mrc/policy.htm	20 (0.06%)	55.00%	11 (0.13%)	80.00%	1.70	00:01:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
88.	/wgsstudies	20 (0.06%)	40.00%	8 (0.09%)	45.00%	3.95	00:04:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
89.	/forestresources	19 (0.05%)	21.05%	4 (0.05%)	78.95%	2.26	00:01:05	10.53%	(0.03%)	\$0.00 (0.00%)
90.	/chem	18 (0.05%)	22.22%	4 (0.05%)	38.89%	2.33	00:01:55	22.22%	4 (0.07%)	\$0.00 (0.00%)
91.	/cmj102	18 (0.05%)	44.44%	(0.09%)	83.33%	1.22	00:01:04	5.56%	1 (0.02%)	\$0.00 (0.00%)
92.	/economics-databases	18 (0.05%)	38.89%	7 (0.08%)	55.56%	3.28	00:01:42	5.56%	1 (0.02%)	\$0.00 (0.00%)
93.	/Educationguide/databases	18 (0.05%)	33.33%	6 (0.07%)	72.22%	1.83	00:02:59	0.00%	(0.00%)	\$0.00 (0.00%)
94.	/staff/rumery.htm	18 (0.05%)	55.56%	10 (0.12%)	72.22%	1.28	00:00:55	0.00%	(0.00%)	\$0.00 (0.00%)
95.	/zika	18 (0.05%)	94.44%	17 (0.20%)	88.89%	1.11	00:00:14	0.00%	(0.00%)	\$0.00 (0.00%)
96.	/ambassadors/default.asp	17 (0.05%)	41.18%	7 (0.08%)	94.12%	1.06	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
97.	/confposters	17 (0.05%)	82.35%	14 (0.16%)	88.24%	1.41	00:01:08	0.00%	(0.00%)	\$0.00 (0.00%)
98.	/eng	17 (0.05%)	35.29%	6 (0.07%)	5.88%	3.82	00:06:20	5.88%	1 (0.02%)	\$0.00 (0.00%)
99.	/facultyservices	17 (0.05%)	35.29%	6 (0.07%)	47.06%	2.47	00:04:05	0.00%	(0.00%)	\$0.00 (0.00%)
100.	/forester/default.asp	17 (0.05%)	29.41%	5 (0.06%)	88.24%	1.12	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
101.	/Educationguide/childlit	16 (0.05%)	31.25%	5 (0.06%)	43.75%	4.44	00:04:24	6.25%	1 (0.02%)	\$0.00 (0.00%)
102.	/about/events.htm	15 (0.04%)	46.67%	7 (0.08%)	73.33%	1.53	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
103.	/bio100lab	15 (0.04%)	80.00%	12 (0.14%)	46.67%	1.87	00:00:57	0.00%	(0.00%)	\$0.00 (0.00%)
104.	/c.php?g=484879	15 (0.04%)	0.00%	0 (0.00%)	20.00%	8.67	00:12:59	0.00%	(0.00%)	\$0.00 (0.00%)
105.	/circ/group_study_rooms.htm	15 (0.04%)	33.33%	5 (0.06%)	53.33%	2.07	00:04:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
106.	/circ/photocopy.htm	15 (0.04%)	66.67%	10 (0.12%)	86.67%	1.13	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
107.	/elections	15 (0.04%)	66.67%	10 (0.12%)	60.00%	3.80	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
108.	/mrc/equipment.htm	15 (0.04%)	66.67%	10 (0.12%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
109.	/arts/images	14 (0.04%)	0.00%	0 (0.00%)	92.86%	1.07	00:02:06	0.00%	(0.00%)	\$0.00 (0.00%)
110.	/c.php?g=150206&p=988037	14 (0.04%)	100.00%	14 (0.16%)	71.43%	1.29	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
111.	/canstudies/hours.htm	14 (0.04%)	71.43%	10 (0.12%)	14.29%	3.29	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
112.	/dmc	14 (0.04%)	57.14%	8 (0.09%)	71.43%	1.79	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
113.	/ead565fall2016	14 (0.04%)	21.43%	3 (0.04%)	64.29%	3.07	00:06:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
114.	/sociology	14 (0.04%)	0.00%	0 (0.00%)	57.14%	3.14	00:02:46	7.14%	1 (0.02%)	\$0.00 (0.00%)
115.	/chemeng/bioeng	13 (0.04%)	23.08%	3 (0.04%)	53.85%	2.31	00:02:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
116.	/about/floorplan2.htm	12 (0.03%)	66.67%	8 (0.09%)	75.00%	1.50	00:00:06	0.00%	(0.00%)	\$0.00

117.	/lifehacklibrary/citing	12 (0.03%)	50.00%	6 (0.07%)	66.67%	2.42	00:03:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
118.	/speccoll/Guides/francoamerican.htm	12 (0.03%)	100.00%	12 (0.14%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
119.	/techserv/Cataloging/Download_Copy.htm	12 (0.03%)	100.00%	12 (0.14%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
120.	/chf321fall2016	11 (0.03%)	9.09%	1 (0.01%)	81.82%	3.09	00:03:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
121.	/climateweather	11 (0.03%)	18.18%	2 (0.02%)	45.45%	1.82	00:03:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
122.	/digitalcommons	11 (0.03%)	54.55%	6 (0.07%)	54.55%	2.36	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
123.	/nas/articles	11 (0.03%)	9.09%	1 (0.01%)	63.64%	2.27	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
124.	/resources.htm	11 (0.03%)	45.45%	5 (0.06%)	27.27%	3.00	00:01:42	9.09%	1 (0.02%)	\$0.00 (0.00%)
125.	/staff/curtis.htm	11 (0.03%)	63.64%	7 (0.08%)	63.64%	2.36	00:02:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
126.	/ant597	10 (0.03%)	70.00%	7 (0.08%)	80.00%	1.20	00:03:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
127.	/ast	10 (0.03%)	40.00%	4 (0.05%)	20.00%	4.30	00:04:01	0.00%	(0.00%)	\$0.00 (0.00%)
128.	/c.php?g=487203&p=3332129	10 (0.03%)	20.00%	2 (0.02%)	10.00%	2.70	00:00:38	0.00%	(0.00%)	\$0.00 (0.00%)
129.	/c.php?g=489588	10 (0.03%)	30.00%	3 (0.04%)	0.00%	8.70	00:21:33	0.00%	(0.00%)	\$0.00 (0.00%)
130.	/c.php?g=98115&p=636831	10 (0.03%)	100.00%	10 (0.12%)	90.00%	1.10	00:00:01	0.00%	(0.00%)	\$0.00 (0.00%)
131.	/DCself_archive	10 (0.03%)	60.00%	6 (0.07%)	20.00%	3.40	00:04:53	0.00%	(0.00%)	\$0.00 (0.00%)
132.	/eng/lit	10 (0.03%)	0.00%	0 (0.00%)	40.00%	2.40	00:03:00	0.00%	(0.00%)	\$0.00 (0.00%)
133.	/etech	10 (0.03%)	70.00%	7 (0.08%)	60.00%	2.50	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
134.	/muh201	10 (0.03%)	0.00%	0 (0.00%)	90.00%	1.20	00:03:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
135.	/scitechbus/default.asp	10 (0.03%)	40.00%	4 (0.05%)	30.00%	6.50	00:12:10	10.00%	1 (0.02%)	\$0.00 (0.00%)
136.	/speccoll/Guides/nativeamerican.htm	10 (0.03%)	100.00%	10 (0.12%)	70.00%	1.70	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
137.	/bua220	9 (0.03%)	11.11%	1 (0.01%)	77.78%	1.33	00:00:32	0.00%	(0.00%)	\$0.00 (0.00%)
138.	/citation_analysis/GS_WOS	9 (0.03%)	77.78%	7 (0.08%)	77.78%	1.22	00:02:06	0.00%	(0.00%)	\$0.00 (0.00%)
139.	/DCself_archive/impact-dashboard	9 (0.03%)	22.22%	2 (0.02%)	22.22%	2.44	00:01:10	0.00%	(0.00%)	\$0.00 (0.00%)
140.	/erl319fall2016	9 (0.03%)	33.33%	3 (0.04%)	77.78%	1.78	00:00:57	0.00%	(0.00%)	\$0.00 (0.00%)
141.	/GovernmentDocuments	9 (0.03%)	66.67%	6 (0.07%)	77.78%	1.67	00:00:49	0.00%	(0.00%)	\$0.00 (0.00%)
142.	/musicguide	9 (0.03%)	22.22%	2 (0.02%)	44.44%	3.00	00:01:12	0.00%	(0.00%)	\$0.00 (0.00%)
143.	/nas/wabanaki	9 (0.03%)	88.89%	8 (0.09%)	77.78%	1.56	00:00:31	0.00%	(0.00%)	\$0.00 (0.00%)
144.	/scifinder_database_guide	9 (0.03%)	22.22%	2 (0.02%)	88.89%	1.56	00:00:06	0.00%	(0.00%)	\$0.00 (0.00%)
145.	/sharebutton.to	9 (0.03%)	100.00%	9 (0.11%)	0.00%	2.89	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
146.	/speccoll/newspapers.htm	9 (0.03%)	77.78%	7 (0.08%)	44.44%	2.11	00:00:18	0.00%	(0.00%)	\$0.00 (0.00%)
147.	/speccoll/ursus.htm	9 (0.03%)	44.44%	4 (0.05%)	11.11%	3.89	00:05:59	11.11%	1 (0.02%)	\$0.00 (0.00%)
148.	/theses/about.htm	9 (0.03%)	33.33%	3 (0.04%)	55.56%	2.44	00:01:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
149.	/c.php?g=376745&p=2549514	8 (0.02%)	87.50%	7 (0.08%)	75.00%	2.62	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4.50	, , ,	8	60.50%	5	07.500	4.05	00.00.11	10 50%	1	\$0.00

150.	/canada	(0.02%)	62.50%	(0.06%)	37.50%	4.25	00:02:11	12.50%	(0.02%)	(0.00%)
151.	/cohen/bangor.htm	8 (0.02%)	62.50%	5 (0.06%)	37.50%	5.25	00:05:16	0.00%	(0.00%)	\$0.00 (0.00%)
152.	/colldev/cdpolicy/dcpolicy.htm	8 (0.02%)	50.00%	4 (0.05%)	87.50%	1.25	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
153.	/filmstudies/db	8 (0.02%)	25.00%	(0.02%)	25.00%	2.50	00:02:45	0.00%	(0.00%)	\$0.00 (0.00%)
154.	/friendly.php?s=facultyservices	8 (0.02%)	25.00%	2 (0.02%)	87.50%	2.00	00:00:20	12.50%	(0.02%)	\$0.00 (0.00%)
155.	/grad-tips	8 (0.02%)	0.00%	0 (0.00%)	87.50%	1.12	00:00:08	0.00%	(0.00%)	\$0.00 (0.00%)
156.	/new-media/articles	8 (0.02%)	37.50%	3 (0.04%)	62.50%	1.75	00:02:09	0.00%	(0.00%)	\$0.00 (0.00%)
157.	/nur101/assignment1	8 (0.02%)	12.50%	1 (0.01%)	62.50%	2.00	00:02:54	0.00%	(0.00%)	\$0.00 (0.00%)
158.	/speccoll/theses_instructions.htm	8 (0.02%)	0.00%	0 (0.00%)	87.50%	1.12	00:00:11	0.00%	(0.00%)	\$0.00 (0.00%)
159.	/ant/antgen	7 (0.02%)	28.57%	2 (0.02%)	71.43%	1.29	00:05:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
160.	/c.php?g=98547&p=638077	7 (0.02%)	100.00%	7 (0.08%)	85.71%	1.14	00:00:04	0.00%	(0.00%)	\$0.00 (0.00%)
161.	/circ/location_classrooms_group_study.htm	7 (0.02%)	57.14%	4 (0.05%)	28.57%	5.86	00:13:20	14.29%	1 (0.02%)	\$0.00 (0.00%)
162.	/Educationguide/childlitawards	7 (0.02%)	100.00%	7 (0.08%)	85.71%	1.14	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
163.	/facultyservices.htm	7 (0.02%)	0.00%	0 (0.00%)	28.57%	3.29	00:00:23	57.14%	4 (0.07%)	\$0.00 (0.00%)
164.	/facultyservices/facultyservices	7 (0.02%)	57.14%	4 (0.05%)	71.43%	2.71	00:03:02	0.00%	(0.00%)	\$0.00 (0.00%)
165.	/mbstl	7 (0.02%)	57.14%	4 (0.05%)	71.43%	2.00	00:00:41	0.00%	(0.00%)	\$0.00 (0.00%)
166.	/patents	7 (0.02%)	57.14%	4 (0.05%)	42.86%	2.43	00:00:59	0.00%	(0.00%)	\$0.00 (0.00%)
167.	/patents/historical	7 (0.02%)	85.71%	6 (0.07%)	57.14%	1.71	00:00:29	0.00%	(0.00%)	\$0.00 (0.00%)
168.	/scitechbus/pulpandpaper.htm	7 (0.02%)	100.00%	7 (0.08%)	71.43%	1.43	00:01:06	0.00%	(0.00%)	\$0.00 (0.00%)
169.	/staff/bonnet.htm	7 (0.02%)	42.86%	3 (0.04%)	57.14%	1.57	00:00:27	0.00%	(0.00%)	\$0.00 (0.00%)
170.	/staff/butterfield.htm	7 (0.02%)	28.57%	2 (0.02%)	42.86%	2.29	00:04:30	0.00%	(0.00%)	\$0.00 (0.00%)
171.	/staff/liu.htm	7 (0.02%)	71.43%	5 (0.06%)	85.71%	1.29	00:00:01	0.00%	(0.00%)	\$0.00 (0.00%)
172.	/swk540/policies	7 (0.02%)	0.00%	0 (0.00%)	28.57%	3.43	00:12:22	0.00%	(0.00%)	\$0.00 (0.00%)
173.	/wgsnewtitles	7 (0.02%)	57.14%	4 (0.05%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
174.	/about/computers.htm	6 (0.02%)	100.00%	6 (0.07%)	83.33%	1.33	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
175.	/bua_235	6 (0.02%)	100.00%	6 (0.07%)	50.00%	4.00	00:01:48	0.00%	(0.00%)	\$0.00 (0.00%)
176.	/c.php?g=149686&p=1007278	6 (0.02%)	66.67%	4 (0.05%)	33.33%	2.00	00:02:31	0.00%	(0.00%)	\$0.00 (0.00%)
177.	/chf404bfall2016	6 (0.02%)	66.67%	4 (0.05%)	66.67%	1.33	00:00:06	0.00%	(0.00%)	\$0.00 (0.00%)
178.	/climate/clcams.htm	6 (0.02%)	100.00%	6 (0.07%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
179.	/cmj-journalism/articles	6 (0.02%)	33.33%	2 (0.02%)	33.33%	5.00	00:02:52	16.67%	1 (0.02%)	\$0.00 (0.00%)
180.	/compsci	6 (0.02%)	50.00%	3 (0.04%)	50.00%	1.67	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
181.	/Educationguide/subtopics	6 (0.02%)	100.00%	6 (0.07%)	83.33%	1.17	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
182.	/friendly.php?s=referenceservices	6 (0.02%)	33.33%	(0.02%)	50.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
183.	/grants	6 (0.02%)	16.67%	(0.01%)	66.67%	1.33	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)

184.	/hed630fall2016	6 (0.02%)	16.67%	1 (0.01%)	16.67%	2.17	00:00:27	0.00%	(0.00%)	\$0.00 (0.00%)
185.	/mbstl_business_technology	6 (0.02%)	0.00%	0 (0.00%)	83.33%	1.17	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
186.	/prf.php?account_id=15529	6 (0.02%)	83.33%	5 (0.06%)	66.67%	2.00	00:03:37	0.00%	(0.00%)	\$0.00 (0.00%)
187.	/sms322/default.asp	6 (0.02%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
188.	/speccoll/allnewspapers.htm	6 (0.02%)	83.33%	5 (0.06%)	83.33%	1.17	00:00:08	0.00%	(0.00%)	\$0.00 (0.00%)
189.	/speccoll/scstaff.htm	6 (0.02%)	50.00%	3 (0.04%)	16.67%	3.33	00:02:35	0.00%	(0.00%)	\$0.00 (0.00%)
190.	/staff/rollins.htm	6 (0.02%)	83.33%	5 (0.06%)	66.67%	1.33	00:00:20	0.00%	(0.00%)	\$0.00 (0.00%)
191.	/staffinfo/default.htm	6 (0.02%)	0.00%	0 (0.00%)	66.67%	1.67	00:01:41	0.00%	(0.00%)	\$0.00 (0.00%)
192.	/techserv/Cataloging/duplicates.htm	6 (0.02%)	83.33%	5 (0.06%)	83.33%	1.50	00:05:07	0.00%	(0.00%)	\$0.00 (0.00%)
193.	/techserv/Cataloging/Scores.htm	6 (0.02%)	100.00%	6 (0.07%)	83.33%	1.67	00:02:00	0.00%	(0.00%)	\$0.00 (0.00%)
194.	/wgs101	6 (0.02%)	0.00%	0 (0.00%)	83.33%	1.50	00:00:10	0.00%	(0.00%)	\$0.00 (0.00%)
195.	/bua220/introduction	5 (0.01%)	20.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
196.	/BUA605	5 (0.01%)	20.00%	1 (0.01%)	80.00%	1.20	00:01:01	0.00%	(0.00%)	\$0.00 (0.00%)
197.	/c.php?g=109518&p=709582	5 (0.01%)	0.00%	0 (0.00%)	80.00%	1.60	00:01:02	0.00%	(0.00%)	\$0.00 (0.00%)
198.	/c.php?g=134334&p=880251	5 (0.01%)	0.00%	0 (0.00%)	80.00%	1.40	00:01:08	0.00%	(0.00%)	\$0.00 (0.00%)
199.	/c.php?g=139613&p=2654526	5 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
200.	/c.php?g=92134	5 (0.01%)	100.00%	5 (0.06%)	60.00%	2.40	00:00:13	0.00%	(0.00%)	\$0.00 (0.00%)
201.	/c.php?g=97115	5 (0.01%)	80.00%	4 (0.05%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
202.	/chf423fall2016	5 (0.01%)	40.00%	2 (0.02%)	80.00%	2.00	00:02:04	0.00%	(0.00%)	\$0.00 (0.00%)
203.	/chf450fall2016/default.asp	5 (0.01%)	60.00%	3 (0.04%)	20.00%	5.60	00:07:51	20.00%	1 (0.02%)	\$0.00 (0.00%)
204.	/ejournals/default.asp?Biology=	5 (0.01%)	20.00%	1 (0.01%)	80.00%	1.20	00:00:34	0.00%	(0.00%)	\$0.00 (0.00%)
205.	/general/appendproxyIP.htm	5 (0.01%)	60.00%	3 (0.04%)	60.00%	1.40	00:00:05	0.00%	(0.00%)	\$0.00 (0.00%)
206.	/mathstats	5 (0.01%)	60.00%	3 (0.04%)	60.00%	2.60	00:02:53	0.00%	(0.00%)	\$0.00 (0.00%)
207.	/nmd100	5 (0.01%)	20.00%	1 (0.01%)	80.00%	1.20	00:04:14	0.00%	(0.00%)	\$0.00 (0.00%)
208.	/patents/default.asp	5 (0.01%)	100.00%	5 (0.06%)	80.00%	1.20	00:01:23	0.00%	(0.00%)	\$0.00 (0.00%)
209.	/phil/home	5 (0.01%)	40.00%	2 (0.02%)	20.00%	3.20	00:00:45	20.00%	1 (0.02%)	\$0.00 (0.00%)
210.	/referencesources	5 (0.01%)	20.00%	1 (0.01%)	40.00%	2.20	00:00:14	0.00%	(0.00%)	\$0.00 (0.00%)
211.	/scitechbus/transportation.htm	5 (0.01%)	80.00%	4 (0.05%)	60.00%	3.60	00:08:40	0.00%	(0.00%)	\$0.00 (0.00%)
212.	/sms	5 (0.01%)	60.00%	3 (0.04%)	20.00%	3.40	00:01:47	0.00%	(0.00%)	\$0.00 (0.00%)
213.	/staff/beauregard.htm	5 (0.01%)	40.00%	2 (0.02%)	80.00%	1.40	00:00:14	0.00%	(0.00%)	\$0.00 (0.00%)
214.	/staff/clement.htm	5 (0.01%)	40.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
215.	/staff/daigle.htm	5 (0.01%)	80.00%	4 (0.05%)	60.00%	1.80	00:00:22	0.00%	(0.00%)	\$0.00 (0.00%)
216.	/staff/gray.htm	5 (0.01%)	60.00%	3 (0.04%)	20.00%	7.20	00:10:43	0.00%	(0.00%)	\$0.00 (0.00%)
217.	/staff/publisher_admin.htm	5 (0.01%)	20.00%	(0.01%)	60.00%	1.40	00:03:30	0.00%	(0.00%)	\$0.00

		(0.01%)		(0.01%)					(0.00%)	(0.00%)
218.	/swk320	5 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
219.	/swk691	5 (0.01%)	20.00%	1 (0.01%)	80.00%	1.20	00:04:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
220.	/technical-services-toc/default.asp	5 (0.01%)	0.00%	0 (0.00%)	0.00%	6.20	00:09:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
221.	/techserv/Cataloging/mlc4pamphlets.htm	5 (0.01%)	100.00%	5 (0.06%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
222.	/techserv/Cataloging/Withdrawals.htm	5 (0.01%)	80.00%	4 (0.05%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
223.	/techserv/LabelPrinting.htm	5 (0.01%)	100.00%	5 (0.06%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
224.	/techserv/Serials/Processing/checking_in.htm	5 (0.01%)	80.00%	4 (0.05%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
225.	/wgsstudies/LGBT	5 (0.01%)	40.00%	(0.02%)	60.00%	1.40	00:01:19	0.00%	(0.00%)	\$0.00 (0.00%)
226.	/writing_business_plans	5 (0.01%)	40.00%	(0.02%)	40.00%	12.40	00:08:46	0.00%	(0.00%)	\$0.00 (0.00%)
227.	/access/libx.htm	4 (0.01%)	50.00%	(0.02%)	25.00%	4.50	00:11:21	25.00%	(0.02%)	\$0.00 (0.00%)
228.	/architect	4 (0.01%)	100.00%	4 (0.05%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
229.	/art-grants	4 (0.01%)	100.00%	4 (0.05%)	50.00%	1.75	00:00:34	0.00%	(0.00%)	\$0.00 (0.00%)
230.	/ben401/home	4 (0.01%)	0.00%	(0.00%)	25.00%	2.50	00:01:32	0.00%	(0.00%)	\$0.00 (0.00%)
231.	/BUA343	4 (0.01%)	25.00%	1 (0.01%)	75.00%	1.50	00:00:04	0.00%	(0.00%)	\$0.00 (0.00%)
232.	/c.php?g=123011&p=3843093	4 (0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	(0.00%)	\$0.00 (0.00%)
233.	/c.php?g=390392&p=2651235	4 (0.01%)	0.00%	0 (0.00%)	75.00%	2.25	00:00:11	0.00%	(0.00%)	\$0.00 (0.00%)
234.	/c.php?g=554902	4 (0.01%)	0.00%	0 (0.00%)	75.00%	1.50	00:00:05	0.00%	(0.00%)	\$0.00 (0.00%)
235.	/c.php?g=580761&p=4008066&preview=eee6a814f100553 9e38c7ebe27c1fd3f	4 (0.01%)	25.00%	1 (0.01%)	25.00%	2.00	00:05:18	0.00%	(0.00%)	\$0.00 (0.00%)
236.	/circ/food.htm	4 (0.01%)	50.00%	2 (0.02%)	75.00%	2.25	00:00:10	0.00%	(0.00%)	\$0.00 (0.00%)
237.	/circ/id_cards.htm	4 (0.01%)	50.00%	(0.02%)	25.00%	2.25	00:00:27	0.00%	(0.00%)	\$0.00 (0.00%)
238.	/civileng/transeng	4 (0.01%)	0.00%	0 (0.00%)	50.00%	3.25	00:04:01	0.00%	(0.00%)	\$0.00 (0.00%)
239.	/cohen/Collection_Description/106_02_03_03_03.htm	4 (0.01%)	100.00%	4 (0.05%)	50.00%	1.50	00:00:23	0.00%	(0.00%)	\$0.00 (0.00%)
240.	/elections/maine	4 (0.01%)	50.00%	(0.02%)	75.00%	2.50	00:01:56	0.00%	(0.00%)	\$0.00 (0.00%)
241.	/elections/voting	4 (0.01%)	75.00%	3 (0.04%)	75.00%	1.25	00:00:05	0.00%	(0.00%)	\$0.00 (0.00%)
242.	/facbooks	4 (0.01%)	50.00%	(0.02%)	75.00%	3.00	00:06:48	0.00%	(0.00%)	\$0.00 (0.00%)
243.	/foodscinutr	4 (0.01%)	0.00%	0 (0.00%)	75.00%	1.25	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
244.	/geo/databases	4 (0.01%)	50.00%	(0.02%)	75.00%	1.50	00:00:03	0.00%	(0.00%)	\$0.00 (0.00%)
245.	/healthpromotion/books	4 (0.01%)	0.00%	0 (0.00%)	0.00%	4.50	00:06:53	0.00%	(0.00%)	\$0.00 (0.00%)
246.	/highlights/fogler.htm	4 (0.01%)	50.00%	(0.02%)	25.00%	3.50	00:01:13	0.00%	(0.00%)	\$0.00 (0.00%)
247.	/mbstl_financing	4 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
248.	/mbstl_specialty_food	4 (0.01%)	0.00%	0 (0.00%)	0.00%	27.75	00:50:39	0.00%	(0.00%)	\$0.00 (0.00%)
249.	/nur101	4 (0.01%)	50.00%	(0.02%)	50.00%	6.75	00:03:00	0.00%	(0.00%)	\$0.00 (0.00%)
250.	/psychology	4 (0.01%)	25.00%	1 (0.01%)	25.00%	4.00	00:00:34	0.00%	(0.00%)	\$0.00 (0.00%)

251.	/reference/default.asp	4 (0.01%)	50.00%	(0.02%)	50.00%	2.75	00:00:10	0.00%	(0.00%)	\$0.00 (0.00%)
252.	/reserves/location.htm	4 (0.01%)	50.00%	2 (0.02%)	50.00%	1.75	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
253.	/search.htm	4 (0.01%)	75.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
254.	/techserv/Cataloging/DataExchangeProcedure.htm	4 (0.01%)	75.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
255.	/techserv/Cataloging/inventory.htm	4 (0.01%)	100.00%	4 (0.05%)	75.00%	3.00	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
256.	/techserv/Cataloging/JSTOR_DDA_loading.htm	4 (0.01%)	50.00%	(0.02%)	75.00%	1.75	00:00:06	0.00%	0 (0.00%)	\$0.00
257.	/techserv/Serials/Processing/checkincard.htm	4 (0.01%)	75.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
258.	/techserv/urlchecking.htm	4 (0.01%)	100.00%	4 (0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
259.	/textbookalternativeprogram	4 (0.01%)	75.00%	3 (0.04%)	75.00%	1.50	00:03:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
260.	/wildlifefisheries	4 (0.01%)	0.00%	0 (0.00%)	25.00%	1.75	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
261.	/3D	3 (0.01%)	66.67%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
262.	/about/floorplan3.htm	3 (0.01%)	66.67%	2 (0.02%)	66.67%	1.33	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
263.	/about/mission.htm	3 (0.01%)	66.67%	(0.02%)	66.67%	1.33	00:03:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
264.	/architecture	3 (0.01%)	100.00%	3 (0.04%)	33.33%	1.67	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
265.	/arts/books	3 (0.01%)	33.33%	1 (0.01%)	66.67%	2.00	00:04:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
266.	/bua202-library-resources	3 (0.01%)	66.67%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
267.	/bua651	3 (0.01%)	0.00%	0 (0.00%)	66.67%	1.67	00:03:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
268.	/c.php?g=109518	3 (0.01%)	0.00%	0 (0.00%)	0.00%	4.33	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
269.	/c.php?g=117379&p=763962	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
270.	/c.php?g=119327&p=826725	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
271.	/c.php?g=124750&p=3101915	3 (0.01%)	100.00%	3 (0.04%)	66.67%	2.33	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
272.	/c.php?g=129867&p=2335738	3 (0.01%)	100.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
273.	/c.php?g=200294&p=2945306	3 (0.01%)	100.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
274.	/c.php?g=46452&p=294754	3 (0.01%)	66.67%	2 (0.02%)	66.67%	1.67	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
275.	/c.php?g=525298	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
276.	/c.php?g=557136&p=3831487	3 (0.01%)	0.00%	0 (0.00%)	66.67%	1.33	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
277.	/c.php?g=574125&p=3959172	3 (0.01%)	0.00%	0 (0.00%)	33.33%	1.67	00:05:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
278.	/c.php?g=74682	3 (0.01%)	0.00%	0 (0.00%)	33.33%	1.67	00:05:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
279.	/c.php?g=85842&p=3975028&preview=be73da6d9533a18d 50d62aa4ca0e1434	3 (0.01%)	33.33%	(0.01%)	66.67%	2.33	00:10:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
280.	/chemeng	3 (0.01%)	0.00%	0 (0.00%)	66.67%	1.33	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
281.	/chf404afall2016/apa	3 (0.01%)	100.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
282.	/civileng/civileng	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
283.	/class/default.asp	3 (0.01%)	66.67%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

284.	/cmj	3 (0.01%)	66.67%	2 (0.02%)	33.33%	2.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
285.	/cohen/about_collection.htm	3 (0.01%)	100.00%	3 (0.04%)	33.33%	3.33	00:03:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
286.	/colldev/ebooks/ebooksfaq.htm	3 (0.01%)	33.33%	1 (0.01%)	66.67%	2.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
287.	/colldev/newacq.htm	3 (0.01%)	0.00%	0 (0.00%)	66.67%	2.00	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
288.	/colldev/trials.htm	3 (0.01%)	66.67%	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
289.	/digitalbadging	3 (0.01%)	66.67%	2 (0.02%)	66.67%	1.33	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
290.	/domestic_violence	3 (0.01%)	100.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
291.	/edt520fall2016	3 (0.01%)	33.33%	1 (0.01%)	66.67%	1.33	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
292.	/ehd510fall2016	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
293.	/erl517fall2016	3 (0.01%)	0.00%	0 (0.00%)	66.67%	1.33	00:04:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
294.	/filmstudies	3 (0.01%)	0.00%	0 (0.00%)	33.33%	2.33	00:17:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
295.	/friendly.php?s=GovernmentDocuments	3 (0.01%)	100.00%	3 (0.04%)	66.67%	2.67	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
296.	/fsn301	3 (0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
297.	/geoscan/gislinks.htm	3 (0.01%)	100.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
298.	/govdoc/2005_business_census.htm	3 (0.01%)	66.67%	2 (0.02%)	33.33%	3.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
299.	/guncontrol	3 (0.01%)	100.00%	3 (0.04%)	66.67%	1.33	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
300.	/hed620fall2016	3 (0.01%)	33.33%	1 (0.01%)	0.00%	6.33	00:10:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
301.	/hist/american	3 (0.01%)	33.33%	1 (0.01%)	33.33%	3.67	00:04:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
302.	/int500	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
303.	/manufacturing	3 (0.01%)	33.33%	1 (0.01%)	33.33%	6.00	00:06:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
304.	/market_consumer_Research	3 (0.01%)	33.33%	1 (0.01%)	33.33%	2.67	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
305.	/mbstl_business	3 (0.01%)	0.00%	0 (0.00%)	33.33%	3.33	00:06:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
306.	/mul200	3 (0.01%)	0.00%	0 (0.00%)	33.33%	2.33	00:07:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
307.	/my_ncbi	3 (0.01%)	66.67%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
308.	/nur/apa	3 (0.01%)	33.33%	1 (0.01%)	66.67%	3.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
309.	/patents/patentsearch	3 (0.01%)	66.67%	2 (0.02%)	66.67%	1.33	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
310.	/peacestudies	3 (0.01%)	0.00%	0 (0.00%)	33.33%	3.33	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
311.	/phy100/evaluation	3 (0.01%)	66.67%	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
312.	/polbehavior	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
313.	/psychology/newbooks	3 (0.01%)	33.33%	1 (0.01%)	0.00%	2.33	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
314.	/scitechbus/chemeng.htm	3 (0.01%)	66.67%	2 (0.02%)	33.33%	1.67	00:02:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
315.	/scitechbus/compsci.htm	3 (0.01%)	33.33%	1 (0.01%)	33.33%	3.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
316.	/scitechbus/construction.htm	3 (0.01%)	33.33%	1 (0.01%)	33.33%	2.67	00:02:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
217	/seiteebbus/patents.htm	3	100.00%	3	100.00%	1.00	00.00.00	0.00%	0	\$0.00

517.	7 Setteenbus/ patents.ntm	(0.01%)	100.00%	(0.04%)	100.00%	1.00	00.00.00	0.00%	(0.00%)	(0.00%)
318.	/scitechbus/trademarks.htm	3 (0.01%)	100.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
319.	/sed532fall2016	3 (0.01%)	33.33%	1 (0.01%)	33.33%	2.67	00:03:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
320.	/staff/beattie.htm	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
321.	/staff/default.htm	3 (0.01%)	33.33%	1 (0.01%)	0.00%	3.67	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
322.	/staff/expression_issues.htm	3 (0.01%)	100.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
323.	/staff/googleanalytics/default.htm	3 (0.01%)	0.00%	0 (0.00%)	0.00%	10.33	00:19:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
324.	/staff/johnson.htm	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
325.	/staff/revitt.htm	3 (0.01%)	100.00%	3 (0.04%)	66.67%	1.33	00:08:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
326.	/techserv/Cataloging/Maps.htm	3 (0.01%)	66.67%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
327.	/techserv/Cataloging/rarebooks.htm	3 (0.01%)	100.00%	3 (0.04%)	66.67%	1.33	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
328.	/techserv/Cataloging/Themed_Journals.htm	3 (0.01%)	100.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
329.	/techserv/digitalcommons.htm	3 (0.01%)	66.67%	(0.02%)	0.00%	4.00	00:02:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
330.	/techserv/serials/binding/theses_binderychange.htm	3 (0.01%)	0.00%	0 (0.00%)	33.33%	38.00	01:16:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
331.	/techserv/techservweb.htm	3 (0.01%)	0.00%	0 (0.00%)	66.67%	3.33	00:14:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
332.	/umaine-theatre/articles	3 (0.01%)	100.00%	3 (0.04%)	66.67%	1.33	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
333.	/wle461	3 (0.01%)	33.33%	1 (0.01%)	33.33%	1.67	00:01:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
334.	/about/floorplan1.htm	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
335.	/about/floorplan1b.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
336.	/about/parking.htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:04:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
337.	/animalvetsci	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
338.	/animalvetsci/databases	2 (0.01%)	0.00%	0 (0.00%)	0.00%	7.50	00:18:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
339.	/arch/articles	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
340.	/architect/articles	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
341.	/arts/umaine	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
342.	/ben401/references	2 (0.01%)	50.00%	1 (0.01%)	0.00%	5.00	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
343.	/business-databases/bizminer	2 (0.01%)	100.00%	(0.02%)	50.00%	2.50	00:08:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
344.	/business-databases/business-insights-essentials	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
345.	/c.php?g=108134&p=700836	(0.01%)	0.00%	(0.00%)	50.00%	3.00	00:00:36	0.00%	(0.00%)	\$0.00 (0.00%)
346.	/c.php?g=118010	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
347.	/c.php?g=129867&p=2335545	2 (0.01%)	100.00%	(0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
348.	/c.php?g=161109&p=2683134	2 (0.01%)	50.00%	1 (0.01%)	50.00%	2.00	00:03:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
349.	/c.php?g=201152&p=3231140	2 (0.01%)	100.00%	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
350.	/c.php?g=211801&p=1397547&preview=010388f206cb931	2	0.00%	0	50.00%	1.50	00:00:10	0.00%	0	\$0.00

	12023/185/011/400	(0.01%)		(0.00%)					(0.00%)	(0.00%)
351.	/c.php?g=376745&p=2549516	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
352.	/c.php?g=390392&p=2651238	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:24	0.00%	(0.00%)	\$0.00 (0.00%)
353.	/c.php?g=390392&p=2651239	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	(0.00%)	\$0.00 (0.00%)
354.	/c.php?g=416256&p=4022722&preview=de999eeda15aa14 1c12ea05aa9d72486	2 (0.01%)	0.00%	0 (0.00%)	0.00%	8.00	00:03:17	0.00%	(0.00%)	\$0.00 (0.00%)
355.	/c.php?g=480725&p=3286298&preview=9129a4ee14af62f 1d6c4562499ab8a9f	2 (0.01%)	100.00%	2 (0.02%)	50.00%	2.00	00:14:49	0.00%	(0.00%)	\$0.00 (0.00%)
356.	/c.php?g=484879&p=3316682&preview=56d9eaa510e3626 89bace60d33fbdf95	2 (0.01%)	0.00%	0 (0.00%)	0.00%	14.50	00:19:49	0.00%	(0.00%)	\$0.00 (0.00%)
357.	/c.php?g=543674&p=3725236&preview=c10364356b1a74e 5666203111a1baa1c	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
358.	/c.php?g=559804&p=3862886	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
359.	/c.php?g=573992&p=3958084&preview=7deb9a4b35f6ead 6ae57c1b6ffe41bea	2 (0.01%)	0.00%	0 (0.00%)	0.00%	5.00	00:14:04	0.00%	(0.00%)	\$0.00 (0.00%)
360.	/c.php?g=574125&p=3959174	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:57	0.00%	(0.00%)	\$0.00 (0.00%)
361.	/c.php?g=575340&p=3967709&preview=1bd37c883ccf12e ba09ee493efb819b5	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:32	0.00%	(0.00%)	\$0.00 (0.00%)
362.	/c.php?g=575424	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
363.	/c.php?g=94685	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:58	0.00%	(0.00%)	\$0.00 (0.00%)
364.	/c.php?g=98115&p=636829	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
365.	/c.php?g=98365&p=636915	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
366.	/canada/polgov	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:00:03	0.00%	(0.00%)	\$0.00 (0.00%)
367.	/canstudies/default.asp	2 (0.01%)	50.00%	1 (0.01%)	0.00%	4.50	00:09:17	0.00%	(0.00%)	\$0.00 (0.00%)
368.	/chemeng/materials	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:07	0.00%	(0.00%)	\$0.00 (0.00%)
369.	/chemeng/paper	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:04	0.00%	(0.00%)	\$0.00 (0.00%)
370.	/chf404bfall2016/books	2 (0.01%)	50.00%	1 (0.01%)	0.00%	2.50	00:00:22	0.00%	(0.00%)	\$0.00 (0.00%)
371.	/chf433fall2016/apa	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
372.	/cinahldatabaseguide	2 (0.01%)	50.00%	1 (0.01%)	50.00%	3.50	00:01:39	0.00%	(0.00%)	\$0.00 (0.00%)
373.	/circ/id_cards_alumni.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
374.	/circ/id_cards_other.htm	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:02:05	0.00%	(0.00%)	\$0.00 (0.00%)
375.	/climate/clcalculators.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
376.	/climatedisplay	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
377.	/cmj-journalism/stats	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
378.	/cmj/stats	2 (0.01%)	100.00%	(0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
379.	/colldev/cdpolicy/rrrpop.htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:08	0.00%	(0.00%)	\$0.00 (0.00%)
380.	/colldev/default.asp	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
381.	/colldev/recommend.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
382.	/colldev/umauthors2010-14.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
383.	/commstudies	2	50.00%	1	50.00%	2.50	00:02:25	0.00%	0	\$0.00

		(0.01%)		(0.01%)					(0.00%)	(0.00%)
384.	/cybersecurity	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
385.	/DCself_archive/account	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
386.	/DCself_archive/new-selectedworks	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
387.	/edt520fall2016/tutorials	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
388.	/Educationguide/booksandarticles	2 (0.01%)	100.00%	(0.02%)	50.00%	1.50	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
389.	/Educationguide/curriculum	2 (0.01%)	50.00%	1 (0.01%)	50.00%	2.00	00:01:48	0.00%	(0.00%)	\$0.00 (0.00%)
390.	/ees489	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
391.	/ehd590fall2016	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:01:39	0.00%	(0.00%)	\$0.00 (0.00%)
392.	/ejournals/_ejournals.asp	2 (0.01%)	0.00%	0 (0.00%)	50.00%	4.00	00:13:54	0.00%	(0.00%)	\$0.00 (0.00%)
393.	/eleceng	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:03:57	0.00%	(0.00%)	\$0.00 (0.00%)
394.	/elections/analysis	2 (0.01%)	100.00%	(0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
395.	/erl320fall2016	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
396.	/erl534fall2016/apa	2 (0.01%)	100.00%	(0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
397.	/ers315	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
398.	/ers433	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
399.	/ess315fall2016/resources	2 (0.01%)	100.00%	2 (0.02%)	50.00%	2.00	00:02:24	0.00%	(0.00%)	\$0.00 (0.00%)
400.	/film	2 (0.01%)	50.00%	1 (0.01%)	0.00%	5.00	00:12:52	50.00%	1 (0.02%)	\$0.00 (0.00%)
401.	/foodscience	2 (0.01%)	100.00%	(0.02%)	50.00%	1.50	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
402.	/forestresources/forestry?preview=dde51c2af4b3ee51b92 6a83cf540cb4a	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:13:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
403.	/friendly.php?s=cmj/cmj103	2 (0.01%)	50.00%	1 (0.01%)	0.00%	4.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
404.	/friendly.php?s=my_ncbi	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:02:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
405.	/friendly.php?s=scifinder_database_guide&p=565868	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
406.	/friends/default.asp	2 (0.01%)	0.00%	0 (0.00%)	0.00%	3.50	00:14:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
407.	/fsn101	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
408.	/fsn425	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
409.	/funding	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:03	0.00%	(0.00%)	\$0.00 (0.00%)
410.	/geography	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:16	0.00%	(0.00%)	\$0.00 (0.00%)
411.	/geoscan/previous.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
412.	/govdoc/2000_housing_census.htm	2 (0.01%)	0.00%	0 (0.00%)	0.00%	6.50	00:07:10	0.00%	(0.00%)	\$0.00 (0.00%)
413.	/hazing	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
414.	/hazing/databases	2 (0.01%)	100.00%	(0.02%)	50.00%	2.00	00:00:07	0.00%	(0.00%)	\$0.00 (0.00%)
415.	/highlights/default.asp	2 (0.01%)	100.00%	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
416.	/highlights/history.htm	2 (0.01%)	50.00%	(0.01%)	0.00%	2.00	00:00:40	0.00%	(0.00%)	\$0.00 (0.00%)

417.	/hottopics	2 (0.01%)	0.00%	0 (0.00%)	0.00%	6.00	00:09:29	0.00%	(0.00%)	\$0.00 (0.00%)
418.	/kpe385fall2016	2 (0.01%)	50.00%	1 (0.01%)	50.00%	2.50	00:00:42	0.00%	(0.00%)	\$0.00 (0.00%)
419.	/mbstl_agriculture	2 (0.01%)	0.00%	0 (0.00%)	0.00%	3.00	00:10:03	0.00%	(0.00%)	\$0.00 (0.00%)
420.	/MBSTL_Business	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
421.	/mbstl_finding_new_customers	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:12	0.00%	(0.00%)	\$0.00 (0.00%)
422.	/mbstl_science_technology	2 (0.01%)	0.00%	0 (0.00%)	0.00%	23.50	00:07:18	0.00%	(0.00%)	\$0.00 (0.00%)
423.	/mecheng/materials	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
424.	/newmedia	2 (0.01%)	50.00%	1 (0.01%)	0.00%	2.50	00:11:41	0.00%	(0.00%)	\$0.00 (0.00%)
425.	/news	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
426.	/patents/legal	2 (0.01%)	100.00%	(0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
427.	/patents/oronoptrc	2 (0.01%)	50.00%	1 (0.01%)	0.00%	38.00	00:11:17	0.00%	(0.00%)	\$0.00 (0.00%)
428.	/phy100/in-class	2 (0.01%)	100.00%	(0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
429.	/politicalscience/americanpolitics	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
430.	/prf.php?account_id=10136	2 (0.01%)	100.00%	(0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
431.	/reserves/using_reserve.htm	2 (0.01%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:41	0.00%	(0.00%)	\$0.00 (0.00%)
432.	/scifinder_database_guide/advanced-searchtips	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:00:11	0.00%	(0.00%)	\$0.00 (0.00%)
433.	/scitechbus/animalvet.htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	6.50	00:02:36	0.00%	(0.00%)	\$0.00 (0.00%)
434.	/scitechbus/banking.htm	2 (0.01%)	100.00%	2 (0.02%)	50.00%	2.50	00:08:07	0.00%	(0.00%)	\$0.00 (0.00%)
435.	/scitechbus/biotechnology.htm	2 (0.01%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:52	0.00%	(0.00%)	\$0.00 (0.00%)
436.	/scitechbus/energy.htm	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.50	00:01:09	0.00%	(0.00%)	\$0.00 (0.00%)
437.	/search_results.htm?q=thesis binding	2 (0.01%)	0.00%	0 (0.00%)	50.00%	4.50	00:10:58	0.00%	(0.00%)	\$0.00 (0.00%)
438.	/sitemap.htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:01:47	0.00%	(0.00%)	\$0.00 (0.00%)
439.	/sms691	2 (0.01%)	50.00%	1 (0.01%)	50.00%	2.00	00:00:09	0.00%	(0.00%)	\$0.00 (0.00%)
440.	/smt588fall2016	2 (0.01%)	50.00%	1 (0.01%)	50.00%	4.00	00:13:09	0.00%	(0.00%)	\$0.00 (0.00%)
441.	/speccoll/policy.htm	2 (0.01%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:34	0.00%	(0.00%)	\$0.00 (0.00%)
442.	/srch.php	2 (0.01%)	50.00%	1 (0.01%)	0.00%	8.00	00:17:50	0.00%	(0.00%)	\$0.00 (0.00%)
443.	/staff/expressionweb_4.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
444.	/swk491	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:08:48	0.00%	(0.00%)	\$0.00 (0.00%)
445.	/syriaisis	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:02:17	0.00%	(0.00%)	\$0.00 (0.00%)
446.	/techserv/Cataloging/audiobooks.htm	2 (0.01%)	100.00%	(0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
447.	/techserv/Cataloging/LMC_Download.htm	2 (0.01%)	100.00%	(0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
448.	/techserv/Cataloging/Virtual_Bookplates.htm	2 (0.01%)	100.00%	(0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
449.	/techserv/dc_findingaids2.htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	2.50	00:03:06	0.00%	(0.00%)	\$0.00 (0.00%)
450.	/techserv/Serials/ERM/ClientCenter.htm	2 (0.01%)	100.00%	(0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00

451.	/techserv/Serials/orders/EDlinvoices.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
452.	/techserv/Serials/orders/renewal.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
453.	/techserv/Serials/Processing/close_checkin.htm	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
454.	/techserv/serials/processing/YBP_invoices.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
455.	/theses/restrictedaccess.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
456.	/tutorials	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
457.	/umdance/articles	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
458.	/wgs250	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
459.	/access/default.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
460.	/access/mainecard-basics.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
461.	/aging	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
462.	/agri	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
463.	/animalveterinaryscience	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:02:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
464.	/ant	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
465.	/ant/cite	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
466.	/ant/physical	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
467.	/ant/religion	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:26:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
468.	/arch/books	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
469.	/art	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
470.	/articles-2/default.asp	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
471.	/arts/web	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
472.	/az.php	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
473.	/beer	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
474.	/beer/oh-canada	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
475.	/beer/old-not-stale	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
476.	/ben401	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
477.	/ben401/database-search-tips	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
478.	/biologyecology/encyclopedias	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
479.	/biologyecology/guides	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:04:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
480.	/biomed/zebrafish	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
481.	/browse.php?u=mxBZyXrkLzaig8n2v4g+tVvq5v1W2XUqb/q WlnU0waYx3Vhc6CRj/qMZwEcb5ATS&b=21&f=norefer	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:04:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
482.	/bua202-library-resources/books	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
483.	/BUA220	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

484.	/bua220/introduction?preview=86fb97f8f148abd987c7875 19d0716b9	1 (0.00%)	100.00%	(0.01%)	0.00%	6.00	00:17:00	0.00%	(0.00%)	\$0.00 (0.00%)
485.	/business-databases/business-source-complete	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
486.	/c.php?g=103597	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
487.	/c.php?g=106350&p=831232	1 (0.00%)	0.00%	(0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
488.	/c.php?g=108150&p=700900	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:30:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
489.	/c.php?g=109518&p=4021928&preview=34722eb93497820 b0de7557670a63d6b	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
490.	/c.php?g=109518&p=709585	1 (0.00%)	100.00%	(0.01%)	0.00%	2.00	00:12:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
491.	/c.php?g=119327&p=2332702	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
492.	/c.php?g=119328&p=2104503	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
493.	/c.php?g=121394&p=3618256	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
494.	/c.php?g=127723&p=2811256	1 (0.00%)	0.00%	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
495.	/c.php?g=129867&p=859878	1 (0.00%)	100.00%	(0.01%)	0.00%	2.00	00:00:32	0.00%	(0.00%)	\$0.00 (0.00%)
496.	/c.php?g=130020	1 (0.00%)	0.00%	(0.00%)	0.00%	4.00	00:01:49	0.00%	(0.00%)	\$0.00 (0.00%)
497.	/c.php?g=137569&p=910308	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
498.	/c.php?g=137569&p=949034	1 (0.00%)	0.00%	(0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
499.	/c.php?g=138421&p=905500	1 (0.00%)	0.00%	(0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
500.	/c.php?g=139613&p=2654526'	1 (0.00%)	0.00%	(0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
501.	/c.php?g=141122&p=923866	1 (0.00%)	0.00%	(0.00%)	0.00%	3.00	00:02:03	0.00%	(0.00%)	\$0.00 (0.00%)
502.	/c.php?g=142771	1 (0.00%)	0.00%	(0.00%)	0.00%	2.00	00:12:46	0.00%	(0.00%)	\$0.00 (0.00%)
503.	/c.php?g=149681&p=1055956	1 (0.00%)	0.00%	(0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
504.	/c.php?g=149686&p=1007239	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:14:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
505.	/c.php?g=150848&p=991996&preview=e8607bb1a79d07c2 89eb988d75c51e2e	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
506.	/c.php?g=158342	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:12:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
507.	/c.php?g=158342&p=3963089&preview=b011e98341395e0 d7aa74b69b635dad0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
508.	/c.php?g=200294&p=2945546	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
509.	/c.php?g=201152&p=3231116	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
510.	/c.php?g=281977&p=1895920	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
511.	/c.php?g=363502&p=2455925	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
512.	/c.php?g=376745&p=2549511	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
513.	/c.php?g=376745&p=2580289	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
514.	/c.php?g=388415&p=2635216&preview=21a73454db14391 373da17b93aeb8870	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
515.	/c.php?g=390392&p=2651240	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
516.	/c.php?g=407263&p=2773367&preview=542270e7ee5e25d 2df5bddcbaade4810	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:45	0.00%	(0.00%)	\$0.00 (0.00%)

517.	/c.php?g=46452	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:09:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
518.	/c.php?g=46452&p=2559985	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
519.	/c.php?g=487203&p=3332131	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
520.	/c.php?g=489578&p=3347127&preview=a4f6f65aa06ef7af 937a57cf3da9206f	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
521.	/c.php?g=489588&p=3347189&preview=438a092a4f3ccf7c 0a06a9675115f16f	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
522.	/c.php?g=489612	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
523.	/c.php?g=515326&p=3522412	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
524.	/c.php?g=515326&p=3522412&preview=66b8b65f7e5ecb6b0d7674fef4328d2a	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
525.	/c.php?g=519404&p=3551868&preview=2d06f860f6b63a8 961f2c7dd0bcb2503	1 (0.00%)	0.00%	0 (0.00%)	0.00%	19.00	00:26:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
526.	/c.php?g=535625&p=3664520&preview=efed095ad1c57c7 418498047b58aeb2c	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
527.	/c.php?g=538866&p=3688820&preview=d9977f3083eac56 571f2d34e3651fb59	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
528.	/c.php?g=543816&p=3726632&preview=9fe32f9a53415a9 97ee1a8257d4a7d80	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:29:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
529.	/c.php?g=557141&p=3831510	1 (0.00%)	0.00%	0 (0.00%)	0.00%	21.00	00:43:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
530.	/c.php?g=567013	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
531.	/c.php?g=574125&p=3959174&preview=48c59b8e6462717 4cefc70f42ebe931e	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:04:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
532.	/c.php?g=574349&p=3960881&preview=bc9be4556d969e5 d795fb1b69df268bd	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:44:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
533.	/c.php?g=575108&p=3966071&preview=23305c539f717cd d070c6c4fc52c8edf	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:18:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
534.	/c.php?g=575424&p=3968421&preview=89aeaa5a5418c45 32ee3aa08ece41be7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
535.	/c.php?g=575424&p=3968422	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
536.	/c.php?g=77587&p=501089	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
537.	/c.php?g=92171&p=607542	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:17:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
538.	/c.php?g=98115&p=636070	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
539.	/c.php?g=98381&p=637003	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
540.	/c.php?g=98396	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
541.	/c.php?g=98445&p=637390	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
542.	/c.php?g=98445&p=637414	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:18:05	0.00%	(0.00%)	\$0.00 (0.00%)
543.	/c.php?g=98452	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
544.	/c.php?g=98542&p=638040	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
545.	/c.php?g=98547&p=638076	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
546.	/canstudies/ecanadiana.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:17:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
547.	/canstudies/ncb145.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
548.	/canstudies/news.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
549.	/chem/handbooks	(2.00%)	100.00%	1 (2.21%)	0.00%	2.00	00:16:34	0.00%	0 (0.00%)	\$0.00

		(0.00%)		(0.01%)					(0.00%)	(0.00%)
550.	/chf200fall2016/apa	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:05:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
551.	/chf303fall2016/apa	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:16:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
552.	/chf303fall2016/books	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:49:09	100.00%	1 (0.02%)	\$0.00 (0.00%)
553.	/chf404afall2016	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
554.	/chf423fall2016/apa	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
555.	/chf433fall2016/books	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
556.	/chf451fall2016/apa	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
557.	/chf488fall2016	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
558.	/chf488fall2016/apa	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
559.	/chy105/in-class?preview=1768f1923f20f1291dfca2c47e1 16eb3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
560.	/cinahldatabaseguide/saving	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
561.	/circ/loantable.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
562.	/circ/tours.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
563.	/climate/climatedata.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
564.	/climate/global.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
565.	/cmj/cmj600	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
566.	/cmj/instruction	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:07:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
567.	/cmj107/default.asp	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
568.	/cohen/bangor2.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
569.	/cohen/bangor3.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:06:52	0.00%	(0.00%)	\$0.00 (0.00%)
570.	/cohen/Collection_Description/106_02_04_01.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
571.	/cohen/Collection_Description/106_03_01.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
572.	/cohen/Collection_Description/106_03_03_11.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:03:29	0.00%	(0.00%)	\$0.00 (0.00%)
573.	/cohen/Collection_Description/106_03_03_14.htm	(0.00%)	0.00%	(0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
574.	/cohen/Collection_Description/106_03_03_18.htm	(0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
575.	/cohen/committees.htm	(0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
576.	/cohen/outline.htm	(0.00%)	100.00%	(0.01%)	0.00%	4.00	00:00:58	0.00%	(0.00%)	\$0.00 (0.00%)
577.	/colldev/cdpolicy/default.asp	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
578.	/colldev/cdpolicy/gencdpol.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
579.	/colldev/cdpolicy/Refcollpol.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
580.	/colldev/ebooks/ebkaccess.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
581.	/colldev/giftpolicy.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
582.	/colldev/howgift.htm	1	0.00%	0	0.00%	5.00	00:11:12	0.00%	0	\$0.00

	•	(0.00%)		(0.00%)					(0.00%)	(0.00%)
583.	/colldev/jhvctitles.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
584.	/colldev/umauthors05-09.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
585.	/colldev/umauthors2015-Present.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:08	100.00%	1 (0.02%)	\$0.00 (0.00%)
586.	/copyright	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
587.	/costofhighereducation/citation	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
588.	/csd	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:19	0.00%	(0.00%)	\$0.00 (0.00%)
589.	/csd100	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:28	0.00%	(0.00%)	\$0.00 (0.00%)
590.	/dance	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
591.	/datamanagement/resources	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
592.	/DCself_archive/start	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:14	0.00%	(0.00%)	\$0.00 (0.00%)
593.	/earthsciences	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:09	0.00%	(0.00%)	\$0.00 (0.00%)
594.	/earthsciences/directories	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
595.	/eco117	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:29	0.00%	(0.00%)	\$0.00 (0.00%)
596.	/eco342	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
597.	/Educationguide/handbooks	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
598.	/Educationguide/journals	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
599.	/ehd472fall2016/tutorials	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:22	0.00%	(0.00%)	\$0.00 (0.00%)
600.	/eng/citation	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
601.	/environmentalscience	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
602.	/erl317fall2016	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:48	0.00%	(0.00%)	\$0.00 (0.00%)
603.	/ess315fall2016	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
604.	/friendly.php?action=82&s=digitalcommons	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
605.	/friendly.php?s=anthro	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
606.	/friendly.php?s=confposters	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
607.	/friendly.php?s=DCself_archive/account	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
608.	/friendly.php?s=funding	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
609.	/friendly.php?s=geo	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
610.	/friendly.php?s=patents	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
611.	/friendly.php?s=patents/patentsearch	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
612.	/friendly.php?s=services	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
613.	/friends/authors.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
614.	/fsn101/home	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
615.	/fsn101/tour-level-2	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

616.	/fsn301/database-search-tips	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
617.	/fsn301/evaluation	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
618.	/funding/nonprofits	1 (0.00%)	100.00%	(0.01%)	0.00%	2.00	00:00:13	0.00%	(0.00%)	\$0.00 (0.00%)
619.	/geoscan/default.asp	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:12	0.00%	(0.00%)	\$0.00 (0.00%)
620.	/govdoc/1954_business_census.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
621.	/govdoc/1975_business_census.htm	1 (0.00%)	100.00%	(0.01%)	0.00%	2.00	00:00:22	0.00%	(0.00%)	\$0.00 (0.00%)
622.	/govdoc/default.asp	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
623.	/govdoc/default.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
624.	/healthpromotion/tutorials	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
625.	/hed523fall2016	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
626.	/hed630fall2016/books	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
627.	/hed676fall2016	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:49:16	0.00%	(0.00%)	\$0.00 (0.00%)
628.	/humandevelopmentguide/childdevelopment	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:18	0.00%	(0.00%)	\$0.00 (0.00%)
629.	/humandevelopmentguide/familyrelations	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
630.	/humans-climate	1 (0.00%)	0.00%	(0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
631.	/indexesdb/_Indexes.asp	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
632.	/jobsearch	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
633.	/jobsearch/resume	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
634.	/LAC/lac_devfund_home.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
635.	/librarynews/archive/archive_index.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:20:19	0.00%	(0.00%)	\$0.00 (0.00%)
636.	/lifehacklibrary	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	(0.00%)	\$0.00 (0.00%)
637.	/lifehacklibrary/articles	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:27	0.00%	(0.00%)	\$0.00 (0.00%)
638.	/lifehacklibrary/scholpop	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
639.	/mbstl_computertelecom	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
640.	/mbstl_exporting	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:29:58	0.00%	(0.00%)	\$0.00 (0.00%)
641.	/mbstl_g_overview	1 (0.00%)	0.00%	0 (0.00%)	0.00%	114.00	01:57:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
642.	/mbstl_legal	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:21:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
643.	/mbstl_online_business	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
644.	/mbstl_overview_1	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
645.	/mbstl_r_environment	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
646.	/mbstl_r_overview	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
647.	/mbstl_support	1 (0.00%)	0.00%	0 (0.00%)	0.00%	35.00	01:02:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
648.	/mobile/Default.htm	(0.00%)	100.00%	(0.01%)	0.00%	6.00	00:00:11	0.00%	(0.00%)	\$0.00

649.	/mrc/video.htm	(0.00%)	100.00%	(0.01%)	0.00%	3.00	00:13:59	0.00%	(0.00%)	(0.00%)
650.	/musicguide/scores	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
651.	/nas/ant426	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
652.	/new-media/images	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
653.	/nfa117bmb	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
654.	/nfa117bmb/in-class	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
655.	/nfa117bmb/in-class?preview=be73da6d9533a18d50d62a a4ca0e1434	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
656.	/nur/handbooks	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
657.	/nur/herbal	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
658.	/nur101/assignment2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
659.	/nur101/home	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
660.	/nursing	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:06:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
661.	/offshorewind/articles	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
662.	/patents/default.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
663.	/phil	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
664.	/phy100	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
665.	/phy100/home	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
666.	/prf.php	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
667.	/prf.php?account_id=14723	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
668.	/prf.php?account_id=19262	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
669.	/prf.php?account_id=82750	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
670.	/prf.php?account_id=83839	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
671.	/process.php?d=joV9t0eaDFIAnoXKWFbagMEIMn8VxXhxp 9GywyKJqeHpEmmla30oTmlN5xXvyqSFCVU=&b=1&f=nore fer	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
672.	/recreads/technical	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
673.	/referenceservices	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
674.	/referenceservices/staff	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
675.	/refnewtitles	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
676.	/science/default.asp	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
677.	/scitechbus/about_us.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:03:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
678.	/scitechbus/accounting.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:07:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
679.	/scitechbus/advertising.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
680.	/scitechbus/aquaculture.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
681.	/scitechbus/business_resources.htm	(0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 0000	\$0.00

		(0.00%)		(0.01%)					(0.00%)	(0.00%)
682.	/scitechbus/civileng.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:07:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
683.	/scitechbus/economics.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:02:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
684.	/scitechbus/electricaleng.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
685.	/scitechbus/environment.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
686.	/scitechbus/marketing.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:11:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
687.	/scitechbus/mathematics.htm	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
688.	/scitechbus/mecheng.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
689.	/scitechbus/meteorology.htm	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
690.	/scitechbus/surveying.htm	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
691.	/scitechbus/water_technology.htm	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
692.	/scitechbus/woodtechnology.htm	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
693.	/search?q=cache:-koxOw7gr-AJ:www.library.umaine.edu/s peccoll/Guides/francoamerican.htm+Albert+forum+madaw aska+maine&hl=en&ct=clnk&cd=3≷=us	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
694.	/search?q=cache:XbNpulGgC_AJ:library.umaine.edu/+&cd= 5&hl=en&ct=clnk≷=us	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
695.	/smt588fall2016/apa	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
696.	/SpecColl/default.asp	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
697.	/speccoll/FindingAids/LeagueWomenVoters.htm	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
698.	/speccoll/manucol.htm	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
699.	/srch.php?q=almelo&guide_id=126238	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
700.	/srch.php?q=bamboo+bending&guide_id=126238	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
701.	/srch.php?q=community+energy	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
702.	/srch.php?q=cq+researcher&guide_id=134334	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
703.	/srch.php?q=Database&guide_id=126242	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
704.	/srch.php?q=Libguide	1 (0.00%)	0.00%	(0.00%)	0.00%	3.00	00:06:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
705.	/srch.php?q=perotin+&guide_id=134929	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:26:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
706.	/srch.php?q=scholars&guide_id=150848	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
707.	/srch.php?q=The+influence+of+domain+size+on+the+resp onse+characteristics+of+a+hurricane+storm+surge+model	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
708.	/srch.php?q=WWII&guide_id=108152	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
709.	/staff/CMSassist.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
710.	/staff/default.asp	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
711.	/staff/fitzgerald.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
712.	/staff/hollinger.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
713.	/staff/lund.htm	(0.00%)	0.00%	(0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)

714.	/staff/newonlinesource_cc.htm	(0.00%)	0.00%	(0.00%)	0.00%	3.00	00:20:50	0.00%	(0.00%)	(0.00%)
715.	/staff/newsguidelines.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
716.	/staff/snow.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
717.	/staff/WebDeveloperToolbar.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
718.	/staffinfo/WebTech_Minutes/2016-web-team-minutes.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
719.	/standards	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
720.	/swk540/moreinfo	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
721.	/technical-services-toc/invoices/default.asp	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
722.	/techserv/Cataloging/batch.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
723.	/techserv/Cataloging/CallNos.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
724.	/techserv/Cataloging/constantData.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
725.	/techserv/Cataloging/CreatingLHRinOCLCforMSCC.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
726.	/techserv/cataloging/JSTOR_DDA_updates.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
727.	/techserv/Cataloging/microforms.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
728.	/techserv/Cataloging/oclc_macros.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
729.	/techserv/Cataloging/RequestEbook.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
730.	/techserv/Cataloging/UMITheses.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
731.	/techserv/dc_findingaids1.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
732.	/techserv/default.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
733.	/techserv/Epson_labels.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
734.	/techserv/ill_microforms.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
735.	/techserv/serials/erm/clientcenter.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
736.	/techserv/Serials/ERM/IndyTitles_ClientCtr.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
737.	/techserv/Serials/ERM/Troubleshooting.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:19:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
738.	/techserv/Serials/orders/EbscoAnnualInvoice.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
739.	/techserv/Serials/orders/freq-codes.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
740.	/techserv/Serials/orders/invoices.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
741.	/techserv/Serials/PPIWeekly_downloads.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
742.	/techserv/Serials/Processing/claims.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
743.	/techserv/Serials/Processing/EbscoLinks.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:16:07	100.00%	1 (0.02%)	\$0.00 (0.00%)
744.	/techserv/Serials/Processing/EbscolReports.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
745.	/techserv/Serials/Processing/localholdingsrecords.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:06:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
746.	/techserv/Serials/Processing/mailsort.htm	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
747.	/techserv/Serials/Processing/YBP_Invoices.htm	(0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00

		((((
748.	/techserv/transfer.htm	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
749.	/textbookalternativeprogram/omr	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
750.	/titleix	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
751.	/townreport/default.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
752.	/translate_c?depth=1&hl=fr&prev=search&rurl=translate.go ogle.fr&sl=en&u=http://library.umaine.edu/techserv/Catalo ging/UMITheses.htm&usg=ALkJrhhdETG6rQhpjLosPYCVd3 IVw3ni0w	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
753.	/troubleshooting	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
754.	/virtualref/default.htm	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
755.	/wildlifefisheries/dictionaries	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
756.	/wp-activate.php?key=33f223ca6cab7074	1 (0.00%)	100.00%	(0.01%)	0.00%	2.00	00:01:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
757.	/wp-activate.php?key=4093fd0751949cd4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
758.	/wp-activate.php?key=822397dd2d7b162e	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:21:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
759.	/wp-activate.php?key=cbcd143333b48d69	1 (0.00%)	100.00%	(0.01%)	0.00%	13.00	00:06:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
760.	/yearbooks/default.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:56	0.00%	0 (0.00%)	\$0.00 (0.00%)

Rows 1 - 760 of 760